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QUESTION 1

According to this picture, Peimen can judge? 

cR3>display ipv6 routing-table protocol isis 

A. R3The device type must beLevel-1-2 

B. unable to judgeR3type of device 

C. R3The device type must beLevel-1 

D. R3The device type must beLevel-2 

Correct Answer: A 

 

 

QUESTION 2

The following six tools cannot be used to match BGP routing entries? 
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A. Community Filter 

B. advancedA, CL 

C. basicA, CL 

D. IP Prefix List 

Correct Answer: B 

 

QUESTION 3

CutoverThe previous information collection can be used to determine whether the services before and after the cutover
are normal. 

A. right 

B. wrong 

Correct Answer: A 

 

QUESTION 4

Ethernet is a network that supports broadcasting, and once there is a loop in the network, this simple broadcasting
mechanism can cause catastrophic consequences. Which of the following phenomena may be caused by loops? 
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A. The device cannot log in remotely 

B. pass throughPINGSerious packet loss during network test with command 

C. CPUOccupancy exceeds70% 

D. use on the deviceDISPLAY INTERFA, CEcommand to view interface statistics, it is found that the interface receives
a large number of broadcast message 

Correct Answer: ABCD 

 

 

QUESTION 5

Which of the following are advantages of VLAN aggregation? 

A. decreasedIPwaste of address 

B. added availableM LANquantity 

C. Increased addressing flexibility 

D. accomplishSub-VLANIsolation between broadcast domains 

Correct Answer: AD 
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